Set Collar for use with Ball Bearing Setscrew Type

NSC tvrn5-@RFvL28) - APUVIEEM - £YFRIU2—F4F w-mr

m AFYVA
\ i’//

o NPUVTEERADEYIIS—,

o KEOOHT, NPUYTORBOBEBE X THETES P » | e,
ER 1% = i/ - - '._h\ Fy ,f
S U1 <ls ® YrINCRFYTUY T BREDBENBEBIZEDTU ot 9 ’
al I [ * & VI DBEEICRETT . ;
I @ ® U I DI EYRRTIUI—TITVET,
o & -t EIF O rots
B NSC-SB
B+0.1 AIE SUS304
FATEIEDRL SUSXM7
Bt mm B mm
eE d B B D DI M@ il HE(g) 2% d B B D DI M@E)* BR HE (g)
7Y 7YV T
NSC-3-7-SB 3 75 5 7 5 M3 693727 -623ZZ 2 NSC-17-13-SB1 17 13 10 28 22.2 Mé 6003z2Z 33
NSC-4-7-SB 4 7.5 5 8 6 M3 69477 - 62477 2 NSC-17-13-SB2 17 13 10 28 24.2 M6 6203727 35
NSC-5-7-SB 5 7.5 5 11 7.2 M3 695ZZ - 605ZZ-625Z2Z 3 NSC-17-13-SB3 17 13 10 28 20.2 M6 690327 32
NSC-6-7-SB1 6 7.5 5 13 8.4 M3 606Z2Z 4 NSC-20-13-SB1 20 13 10 35 25.2 M6 6004z2Z 54
NSC-6-7-SB2 6 7.5 5 13 9.2 M3 626727 5 NSC-20-13-SB2 20 13 10 35 27.2 M6 6204727 55
NSC-6-7-SB3 6 75 5 13 8 M3 69627 4 NSC-20-13-SB3 20 13 10 35 247 M6 690427 53
NSC-8-9-SB1 8 9.5 7 18 11.7 M4 608227 12 NSC-25-13-SB1 25 135 10 38 31.2 Mé 600527 56
NSC-8-9-SB2 8 9.5 7 18 1.4 M4 628727 12 NSC-25-13-SB2 25 13.5 10 38 33.2 M6 6205727 59
NSC-8-9-SB3 8 9.5 7 18 10.4 M4 69822 1 NSC-25-13-SB3 25 13.5 10 38 30.2 M6 690527 55
NSC-10-11-SB1 10 11 8 20 14.2 M5 6000Z2Z 16 NSC-30-15-SB1 30 155 12 45 38.2 M8 6006Z2Z 92
NSC-10-11-SB2 10 1 8 20 16.7 M5 620022 18 NSC-30-15-SB2 30 15.5 12 45 40.2 M8 620627 95
NSC-10-11-SB3 10 1 8 20 13.2 M5 690022 16 NSC-30-15-SB3 30 155 12 45 35.2 M8 6906ZZ 87
NSC-12-11-SB1 12 1 8 22 17.2 M5 6001Z2Z 19 NSC-35-16-SB1 35 16.5 12 50 43.2 M8 60072Z 108
NSC-12-11-SB2 12 11 8 22 17.7 M5 620122 19 NSC-35-16-SB2 35 16.5 12 50 46.2 M8 620727 116
NSC-12-11-SB3 12 11 8 22 15.2 M5 690122 18 NSC-35-16-SB3 35 16.5 12 50 41.2 M8 690727 102
NSC-15-11-SB1 15 11 8 25 20.2 M5 6002272 22 NSC-40-18-SB1 40 18.5 14 60 48.2 M10 600827 185
NSC-15-11-SB2 15 11 8 25 21.2 M5 6202727 23 NSC-40-18-SB2 40 18.5 14 60 52.2 M10 6208727 196
NSC-15-11-SB3 15 11 8 25 18.7 M5 6902272 21 NSC-40-18-SB3 40 18.5 14 60 46.2 M10 690827 180
*1: ARARNEESRCHHBLTVET, *1: RAERNEESRUNHELTVET,
*1: dPENSUTOEEER 177 TT, *1: dHENSIUTOBEE 147 TE,
o RH/IEF il MEIENBKIT T H A METEL 2T,
NSC-4-7-SB
—_
N TU—VHS - JU—ARE = Pxxx hu RUHYS = Pxxxx \‘_" KB+ LEED = P.xxxx l L—HZIEN = P.xxxx
BELEDEL SN AT AT SIS - BlE

N\ NBK @E/17y021 0575-23-1162 info@nbk1560.com https://www.nbk1560.com N\ NBK @/ r7vo21 0575-23-1162 info@nbk1560.com https://www.nbk1560.com



